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PAPER-2

Physics : Q. 1t0Q. 50

Chemistry : Q.51t0Q. 100

Biology : Q. 101 to Q. 150
PHYSICS / Wifaersrre

001. Which of the following expression has a | g01. f=1ra o foog =5 &1 fadfiy LSE q:élﬁ
dimensional formula different from others? g fym gv?

(A) %EO Ez(Eﬂ permitivity of free space, (A) ,i; € EZ(EO fratd &1 Torgastierar, E:
E: electric field) a'ﬂ'a ?gﬁ)
(B) Av (h : Plancks constant, v : frequency) B) hv (h i s, Vo aﬂqﬁr)
(C) pgh (p: density, g: acceleration due (C) pgh (p: w7, g: Teed@ @, h:
to gravity, h: height) 398 )
1 ; : . : 1
(D) 2pvz (p: density, v: velocity) (D) 3 pvz (p: ®Fcd, v: o)

002. The acceleration (@) of an object varies as | 002. TUH a& &1 @0 (q) 3Gh o7 (V) % U
a function of its velocity (v) as a = Ay v ¥ a=AJv & o& A = s B 9k
where A 1s a constant. If at =0, v=0, then =0 w v=0 @, @ @ (t) % wg§ @A
the velocity as a function of time (t) is 3 fem S R
given as 3 ' 1

3 223
122 1 45
2-AA | [2] | Contd...
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003. A car starts from rest to cover distance 'd' | (003, formEET ¥ IR T N UH HSh W
on a road where the coefficient of friction d' gt @@ W 2 W@ g% 3 T &
between the road and the tyres 1s p. The qeg oW Ui R gEeW wEE, o
minimum time in which car can cover this T T T A2 -
distance is proportional to A) B) ’_1 .

K K
(A) u (B) ! 1 1
i X (C) n2 (D) w2
(C) w2 (D) w2

004. A 1.5 m tall girl standing at a distance | 004. 1.5 #H&X el wgehl S 5 WX F=H
of 15 m from a fence 5 m high throws a TEEEr ¥ 15 Hie & Tl B, JRNREEN
stone of mass 0.25 Kg at an angle of 459 # 3 0.25 fem # T TR AR @
to the horizontal. The minimum velocity ;

0 e =
of the stone to be thrown to fly over the 457 B W Bl W -,
fiass 46 o8 98 FgRdad & I ° TR I, B
(A) 9.8 m/s (B) 102 m/s (A) 9.8 #Hi/ahs  (B) 10.2 #i/@hs
(C) 13.8 m/s (D) 19.6 m/s (C) 13.8 H/F+e (D) 19.6 H/T+e

005. A body of mass M in the form of | 005. 45 g#@ = a@ 40 THAA & FHR
an inclined plane with a 459 angle of H M zEmE H T T A ad W
inclination lies on a horizontal plane. A fom ¥ v A @ Afw Rem & R
ball of mass 'm' moving horizontally with C’ +
velocity 'vy' collides with the inclined plane. m FEHH R TR M T9 FHA W CH
After the impact the ball bounces vertically 3l T % UU Tg IWEW IR hl AR
upwards and the inclined plane begins to I5A St & 99T A9 g9de dfad 99 W
slide without friction along the horizontal forr wS ¥ Thuen @l 21 eE ¥ wAm
plane. The velocity of the ball after the st i & .
collision in its vertical travel is S T &

s
m
mv My, vy My
B ® - (&) ® -,
/ M—m /M—m I M—m ‘M—m
© voy "7 D) v/ T ©) vor/ "7 (D) v{)\/ —
2-AA | [3] | P.T.O.
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006. A body can rotate in a vertical plane at the | 006. U= a L daE Hl TH S Ok T W
end of a string of length L. The horizontal FeAltR a9 § gH Whdl | Seaw el
locity imparted to the body in its highest
ve(:*-(‘:lylmpae 0 ea‘:}y?nls 1g.e:~. §oq W B o A 3w, AR
position, so that the tension in the string N @ & 5
at the lowermost position is ten times the W ol T
weight of the body, will be T B, EAT:
(A) V13gL (B)  vogL (A) V13gL (B) V6gL
(C) /5sL D) Vel (C) V5L (D) Vel
007. An empty container is put on the pan | 007. U®% @l &4 TH Hifds del & dois H
of a physical balance and the scale is @ § 991 3Eh UHE I I W EHEIS
adjusted to zero. Small identical balls s e T R ySw 10 UMW ZeEHE
of mass 10 g each are dropped into the THEAE T REmEE & 4.9 der & s
container from rest from height 4.9 m at a 3 100 W SRy Fee B | A T A
constant rate of 100 balls per second. If the et 3 e ik wH % )
collision between each ball and container R ‘ o HHe
is completely inelastic, the reading of the T AR B A S RS F Ag el
balance after 5 second will be &1 WS  EI:
(A) 1 Kg (B) 2 Kg (A) 1 T (B) 2 T
(C) 5 Kg (D) 6 Kg (C) 5 T (D) 6 fem
008. A ball of mass 'm' lying on a frictionless | 008. U HYUR{gd HHd@l dds W f¥d 'm' geaq™
sur_face i1s attached to the two elastic f w e K 9 PEaE 6o
springs of force constant 'k' as shown N .
in the figure. The other two ends of the ferm & fger 96 21 fEm % @ q
spring are connected to rigid wall. The fil g5 daw ¥ $© B e &few fewm 3
ball can perform simple harmonic motion o f
horizontally. The ratio of the velocity of st " 8 . ﬁ
the ball at positions equal to one half and HEW % Y AN uH fagr el w g
one third of amplitude from the equilibrium % A1 FH IEUC BAT:
position will be
K m K K m K
AR R I
/ R TARE
R ARaZRIIAAIEN Z
s 3 2 3
(A) 3 ® 5 (A = ®) 35
1z 3/3 o /2 e 343
© /3 (D) /3 ©) V3 (D) 2.2
2-AA | [4] [ Contd...
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009. The angular velocity of earth rotation, at | (09, Iiz:e.ﬁ ql:rh HT HVIT 9, T W e ol
which the bodies at the equator become o Ey avg:@q YEH & Wl B, & (112:Eﬁ il
weightless, 1s (Radius of earth = 6400 Km) s = 6400 fereY)

(A) 800 /sec (A) 800 wid @hs

(B) 1.25 /sec (B) 1.25 dfd ¥hs

(C) 1.25 x 1072 /sec (C) 1.25 x 107 ufq Tshs
(D) 1.25 x 1073 /sec (D) 1.25 x 1073 ufa e

010. A metal rod of Young’s modulus 1.5 x | 010. 15 x 10" N/m? a7 JeImeerdr o <l
1010 N/m? undergoes an elastic strain of TH uig kBT 0.06% Feaed fapd @
0.06%. The energy stored per unit volume 2l B % WA ThH AEGH H afEd e
of the rod is [

(A) 900 J/m3 (B) 1800 J/m3 (A) 900 St/ (B) 1800 e/’
(C) 2700 J/m?3 (D) 5400 J/m3 (C) 2700 &/ (D) 5400 eI/

011. A piece of ice containing a piece of iron | 011. TH IR % Zhs i G WA T% & Ihal
inside it is floating on water in a container. Uh g4 H YH1 & S| R @ 2l Jd 9%
When 1ce melts completely, the level of quiq: fiae Sl B @ 9d9 B Ul o &R
water in the container will (A) T3
A) Increase
&) (B) =&

(B) Decrease
(C) Remain unchanged ©) T
(D) Become zero (D) =x= & e

012. A uniform circular disc of mass 'M' and | 012. 'M' @AW uwd R B & wH wHEHE
radius 'R' is rotating in a horizontal plane MA Fhdl &fdsd 9 § 394 ZeIHH e °
about an axis passing through its centre of g’ar{:-‘f greAl 99T 9 o @read 319 6 gia:
mass and perpendicular to its plane with an ® HOE A G gW W ol I B aen
angular velocity . Am-:)ther disc of same (M12) Zoaum & wh o =@l # geel
rgdu;s bu; -mas.; h(MxQ) 1:. pldC{:d .gentl;r Zn N p— § @ @ Rw s R
the first disc. The angular velocity of the

_ & d sw e w1 s an 2
system now 1s
3 2
A) 2o B) *o W) e (B) 3e
1
©) Fo D) © € 3¢ @
2-AA | [5] | P.T.O.
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013. The period of a simple pendulum hanging | 013, vus for M & Td U AHd TH WA
from the ceiling of a stationary cart is T,,. G O T |G G 0 ] T; 2 9& ¥E Mmel O
When the cart rolls without friction down gHE BV F A GHAA d for wdur %
the inclined plane with angle of inclination ¥ gewdt B, @ deH B EdHE
0, the period of oscillation

‘ (A) 9e Sl 2

(A) Increases R
(B) decreases {5) He
(C) remains unchanged ©) ARG
(D) becomes infinity (D) ¥ & Sl R

014. Four identical rings of radius R and mass | 014. M z&™E da1 R G & =R wwHaaH
M are placed at the corner of a square Idl H x-y 94 B Th 9 % HiHAl W TH
in x-y plane such that each ring touches YHR @ WMl & T IAS a@d § o
the two rings tangentially. The moment of H TIREE a1 8l 9 b by I IEd
inertia of this system about z-axis passing Z-3FF & Uid: 3@ FeE # A
through the centre of the square is 2
(A) 8 MR? (B) 7 MR’ (A) 8 MR2 (B) 7 MR2
(C) 6 MR? (D) 4 MR? (C) 6 MR2 (D) 4 MR2

015. A police car moving at 5.4 Km/Hr sounds | 015. 5.4 frdi/eer &1 =@ § Tasid U giord
siren emitting frequency of 550 Hz which FR H IcdMd 550 B AGM hl HEH
is reflected back from a stationary object % «afd s T FD a}fr s foorg s fer
some distance ahead of the car. The number g ¥ g FI R Waldd & A6 Bl HR
of beats heard per second by an observer U X uH YuE g gl ufd dehs fowdd
sitting in the car is (Assume velocity of 1 TEm 2 (WA it fF g ¥ ey
sound in air= 330 m/sec) & AT = 330 rﬁ/i.i)
&) 4 B) 5 (A) 4 (B) 5
&) o (D) 0 (C) 6 (D) 0

016. A uniform string of mass M and length L 016. M zomH 3t L @R & T UHEAH
is hanging from the ceiling. If a transverse
wave travels along the length of the string, S @ ?l e =l A
then the time taken by it to travel the % Uid: TH SFgEES qU F@dl B, A gEeh
whole length is T = 9 § @ 8§99 8

L /2L A /L B /2L
(A) w/; ® /5 (A) ./ (B) J g
/3L | /4L C 3L D /AL

© /75 @) /7, © /5 @ /7

2-AA | [6] [ Contd...
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KK
%
K
017. 1In an organ pipe open at one and closed | 017. TU® IWH Afcthr, S TH B W geil aar O
at the other end, two successive harmonics g T W &g B, & HH HAE A %
have frequencies 560 Hz and 720 Hz. The 560 ®eS aAT 720 B @l WA AR H %
length of the pipe is (Assume the velocity e 7 (UF i T ogar ° @b & 338/
of sound in air =330 m/sec) anm = 330 Hi/4A) %
(A) 20.6 cm (B) 41.25 cm (A) 20.6 @ (B) 41.25 @i %
(C) 103.13 cm (D) 206.25 cm (C) 103.13 &#t (D) 206.25 &# L
018. The equation of the displacement of a wave | 018. TU&% T &% fa¥emud 1 qHfR y (dH H)
is y (in cm) = lO(JEsin 27t + Cos 27t). =10(«J€sin 27t + Cos 27ct) 8| AW I A
The amplitude of the wave is Ef
(A) 10 cm (B) 17.3 cm (A) 10 =i (B) 17.3 =i
(C) 20 cm (D) 40 cm (C) 20 =i (D) 40 =
019. 200 gram of ice at -10 °C is mixed with | ¢19. Uk halmier ¥ -10 °C &1 200 U™ &%
200 gram of water at 6 °C in a calorimeter. & 6 9C & 200 UM WA H THART S
If the specific heat of ice and water are 2 afe @b 3w W 6 AR FER wmE
0.5 and 1.0 cal/gm °C respectively and 0.5 3 1.0 Fad/zmm 0C B @ &%
the latent heat of ice is 80 cal/gm, the £ TR o S 80 /w3, @
temperature of the mixture in thermal Sufg @ & fEw @ A R
equilibrium is
(A) 0 °C B) -2 C (&) 0°C ® -2°%
(C) -10 °C (D) 6 °C (C) =10 9C (D) 6 OC
020. An ideal gas having pressure P, volume V | 020. U% ey 74, fSgep g P, A& V qo
and temperature T is allowed to expand a9 T B, @l %greaq: fawara foRnm Sm@r @
adiabatically until its volume becomes 4V 5 3T TEAH 4V B S 2 3t a9 few
while 1ts temperature falls to T/2. The T & s B e w5 e e X
adiabatic exponent of the gas is
- —_ (A) 1.66 (B) 1.50
(©) 1.40 D) 1.33 (C) 1.40 (D) 1.33
2-AA | [7] | P.T.O.
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021. If the Wien’s constant b=0.3 cm-K, | 021. a=fe &g f=des b=0.3 &fi-K, d1 6000 A°
then the temperature of the sun having qeed W ey digar % AR A
maximum intensity of radiation at 6000 o W oam
AY wavelengthis

3 (A) 2000 K (B) 5000 K

(A) 2000 K (B) 5000 K
(C) 6000 K (D) 7000 K

(C) 6000 K (D) 7000 K

022. A Carnot engine works between 727°C and | 022. U @Hie s 727°C 3 27°C & #e
279C. The efficiency of the engine is FE HE Bl 594 HI 2Edl B
(A) 30 5 (B] % (A) 30% B) 70 %

(C) 96 % (D) 100 % (©) 96% D) 100 %

023. The entropy remains constant in 023. U fd wd 2
(A) A cyclic process (A) T ThI U9 A
(B) An isobaric process (B) U wHHEE TshH o
(C) An isothermal process (C) Us dgadl Ushd o
(D) An adiabatic process (D) U FGeH UHH H

024. Two identically charged spherical balls of | 024. 'm' Z=9WM 1 T UHEAHAN IMERE WA
mass 'm' are suspended by strings of length W ] w6 o g s # ﬁ% -
[ each from the same point. At the point P 1%@

Eﬂﬁlé | et i, 9HMH I
of suspension, there is a third ball of same
charge. The charge of the balls for the H T e R i ¥
angle between the strings in equilibrium neg w900 g9 % U g wostEw R
position being 90° is :
| | (A) + 8meyl mg
(A) +/87eyl*mg ﬁ .
/ (B) / 16meyl " mg
(B) + lﬁﬁs{]fgmg
(£) lefrezﬂfzmg (C) v dmeylmg
(D) 1/16?{Eﬂmg (D) + l6meymg
2-AA | [8] [ Contd...
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025. The circuit shown in the figure has four | 025. To% ® wghid ufgy # dg@ares a@ E a=
batteries of emf E and internal resistance 'r', aftes ufety v A SR dell, @ ufadw
two resistances R each and a parallel plate YerF R qU UF | R E el Ud 39
capacitor with plates of length / and the : ;

P b g = gl 'd' 9 S wie "eTE @ U
distance between them as 'd. An electron _ .
having charge 'e' enters the capacitor plates IHH TR F AR VS W He
at velocity 'v' parallel to the plates. The % I TN HA Bl FeldgA b HANE b
angle to the plates with which the electron qEL A W Wi " &1 i B
come out of the capacitor is E E

5 i | |
" |
_i_t;
< £ "z gf"
r r :Ir Ir-
1 I, | I
| | E E
E E
—1{ 2ekl
(A) tan_l( 2;‘3) (A) tan (mdvz)
. 2¢eEl
2eEl B) t 1( )
S S 1( (2Ri4f)dw) B R+ 4
—1( 4eEl
© (42 @ w2
0

026. A battery of EMF 4V and internal resistance | 026. 4V Jdgdargs ol a9l 1 9 Al iy
1 Ohm is connected with three 45 Ohms #1 TH Gl ﬁr;r@gn agﬁ qfgy ¥ o9 45
resistances, a voltmeter and an ammeter in A ufeRiedl, UH dieeHier dum UH I
the electrical circuit as shown in the figure. § 9E ¥ deefiw A s W g
The reading of the voltmeter and ammeter 3.
are . =

o V)
WS
o 4v
(|l A Il @
I| pa |
10 8
(A) 1125 V, 0.25 A (A) 1125V, 0.25 A
(B) 3.75 V, 0.25 A (B) 3.75V, 025 A
(C) 132V, 0.03 A (C) 132V, 0.03 A
(D) 3.06 V, 0.94 A (D) 3.06 V, 0.94 A
2-AA | [9] | P.T.O.
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027. The filament of an electric kettle i1s made | 027. U= aga Facll &1 hame maE  gfaqyl
up of three sections of equal resistances. % dF 9 9 et &1 21 3 8t um
These sections are connected in parallel g %y H° E{‘% 2 dur udt 9 faee +
and the water begins to boil in 9 minutes. IFAET U HL odl @l Ife 39 gfauet i
If these resistances are connected in series, gufishy § Sl 2, df 99F ¢o¥9E & Yl
then the time taken by the same mass of &l Facl H Igd4 T AT GHT T
water in the kettle to boil is (A) 1 fme B) 9 fire
(A) 1 minute (B) 9 minute
(C) 27 minutes (D) 81 minutes (©) 27 Te (D) 81 T

028. Two conducting spheres A and B of radii | 028. 1 @l 3R 2 & B % @ =nfod T
| cm and 2 cm carrying charge 5 x 1073 A 3t B R w wHm: 5 x 107° QA
C and 1 x 107 C respectively are kept and 1 x 1077 Ham <9 &, Th g §
far apart. If the spheres are joined by a W @ R ARG H| MSAl F TH A
conducting wire, then T GE SE g,

(A) Charge will flow from A to B (B sty s . 1B L O et (o)
(B) 3aw B & A & 3 vargdq =gl

(B) Charge will flow from B to A (C) A 3R B % wex 91 omaw vamed

(C) No charge will flow between A and B T B

(D) Charge may flow on either side 0) ;T%Yl TS A R A

029. A piece of platinum and germanium are | 029. UH TifeqH T SHIH % s Hl FH
heated above the room temperature, then % d9 ¥ I TRE fRA @1 B Al 99
the resistance of a1
(A) Germanium will increase while platinum (A) SEfEY &1 gfqiy sem FEfh weifeTy

will decrease with temperature H1 gfaiy =)
(B) Platinum will increase while germanium (B) wifeAm &1 Uiy §Qm Fdfh SREIH
will decrease with temperature H1 gfaiy =)
(C) Both platinum and germanium will (C) TFl wifedq dur FWEg &1 iy
increase with temperature & |
(D) Both platinum and germanium will (D) TAI wifeAq dur SHEE H1 giy
decrease with temperature e
2-AA | [10] [ Contd...
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030. The ratio of electrostatic force F_ and | 030. W qr @ W g s geE 3R U
gravitational force Fg acting between a HH F A9 FEHH dgadifas ad adl
proton and an electron distant r from each TecaTRYUl g 1 U A @
other is approximately o o
(A) 1019 (B) 1029 (A) 10 (B) 10
(C) 103 (D) 104 (€) 10% (D) 10%

031. An electron is moving in a circular orbit | 031. % Sd&H o HUE a1 ¥ r B %
of radius r with angular velocity ®. The JAThR 99 W (a9l 8| $He ohg W Fahid
magnetic field at its centre will be a9 B

My we Hywe
(A) 0 B) (A) 0 B) .
2
2 Hywe Mo e
Hywe Hyw € ) — 47 (D) 20—
©) —— (D) — — r p

032. In an ammeter, 0.2 % of the main current | 032. U% 3WIX H & 9/ & 0.2 % 9M
flows from the coil of the galvanometer. If YT 6l g,@?ﬁ T TSl 2| Ife grETT
the resistance of the coil of galvanometer H Geh W YRAY G B A e @
1S G, then the resistance of the ammeter

. gfaug  gAm:

will be
G G G G

(&) 55 B == (A) 499 B 500

500 G 499 G

500 G 499 G ©) 00 D) o
S 499 500

© 499 (D) 500

033. A long straight conductor carrying current | 033. 1 9RETEl Uh o1 Hgr =cieh d 941 a
I and a square frame of side a are in the YT B Uk SRR HBH REAEER TH E
same plane as s:hown in the ﬁgur&IThls T & 8 W ¥u wEi sn %1 uH B
frame moves with a constant velocity v S 3 e
right side. The induced emf in the frame v SUUI e AT
will be proportional to oA HHTAT! @‘Wi:

I A [ A |
o e — : (B) L @ —1-  ® Ll
(Zr—a)z (2r+a)2 (21"'{1)2 (2F+ﬂ)2
(C) ! D) & (C) : D) 5
7 (2r—a)(2r+a) r (2r—a)(2r+a) r
2-AA | | 11 ] | P.T.O.
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X
b3
L 034. The angle of dip at a place is 30°. If | 034. T Tom w afa wor 30Y 21 afg geeft =
% horizontal component of earth’s magnetic JEh &9 H dfds gk H 7, a1 U
L0 field 1s H, the total field intensity is gy & dgar &
% @ 77 ®) 7 () ®) 7
% ©) H/2 (D) Hy3 (C) HY2 (D) HY3
KKK
KKK
L 035. The magnetic susceptibility is positive and | 035. TradE gRURfiera oAwns 3t w8 @ &
small for a (A) Sdedm wqd #
(A) Diamagnetic substance ; ;
(B) Paramagnetic substance (B) SEITH T
(C) Ferromagnetic substance (©) m gerd H
(D) Nonmagnetic substance (D) gehE Uge H
036. The phenomenon of propagation of light | 036. TU® UeHilReh d=q ¥ bl Ufome &l o
in an optical fiber is due to HT HAU
(A) Interference of light (A) T T AT
(B) Diffraction of light (B) w&m1 1 foamq
(C) Polarization of light (C) STl 1 gau
(D) Total internal reflection of light (D) SehTel o1 9O 3Tidfteh e
037. The resolving power of a microscope can | 037. U& TY® FeAcei 6 fa¥ed &uar sew <
be increased by THdl a:
(A) Increasing diameter of objective lens (A) JAUGWIH TH H A™ TG B
(B) Increasing diameter of eye lens (B) A1 @ &1 AE d@l W
(C) Increasing wavelength of light used (C) YIh UehIW <l qmeed wel e
(D) decreasing wavelength of light used (D) WIF YW I qURE e
038. The convex side of a plano-convex lens of | 038. TUH TR YR 1 3faddd g4I UH HH
radius of curvature 60 cm and refractive fou 60 Tt gar B 9w 1.5 39adde
index 1.5 1s silver plated to obtain a special % TH Ida-3qd o % 3Iqd R W =
type of concave mirror. The focal length T & W 2 39 edu H wred = 3.
of the mirror 1s
(A} 60 e (B) 30 cm (A) 60 cm (B) 30 cm
(C) 24 cm (D) 20 cm (C) 24 cm (D) 20 cm
2-AA | [12] [ Contd...
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039. A monochromatic beam of light of | 039, 600 =X qURE w1 THaOiT TehTol grﬂ
wavelength 600 nm in vacuum enters frafa & 4/3 smaddie & TegW § 9aW
a medium of refractive index (4/3). Its AT Bl 3R quRed 3R 3T|—=1ﬁ'l 30 eI
w:.swelength and frequency in the medium ¥ 2
will e (A) 450 ¥, 5 x 1014 =
(A) 450 nm, 5 x 1014 Hz (B) 600 ¥ S x 104 e
(B) 600 nm, 5 x 10™ Hz C) 800 ﬁ"—ﬁrfra} 3.8 x 104 =
(C) 800 nm, 3.8 x 1014 Hz ) e y K
(D) 450 nm, 6.7 x 10!4 Hz (D) 450 ¥, 6.7 x 107 T
040. A thin mica sheet of refractive index 1.4 | 040. 6000 A q@ieed & UHeRofd wehrer gt i
is used to cover one slit of Young’s double IPAM Heh Ufaured I fg-feqe wam i
slit experiment being performed using Uk fete @1 1.4 SUadqes hl Udel! HIge
monochromatic beam of light of wavelength 3 ¥ gk fear Sdar 21 Afe e 1%@ Lk}
6000 AY. If at the central point is now o9 ufgdi &" s WiH Bl & 9l HiEe
found the fifth bright fringe, the thickness e &1 O R
of the mica sheet is
(A) 4.2 HEHH (B) 6.0 HsshH
(A) 4.2 micron (B) 6.0 micron
(C) 7.5 micron (D) 8.4 micron Lo D) 84
041. An unpolarized light wave is incident from | 041. UH Yfad bl U &1 H Hi= hl Hdg
air on a glass surface at the Brewster angle. W P B W AMGd gl WEldd 3R
The angle between the reflected and the SAuafdd a@n & Hed HI &
refracted wave is (A) 00 (B) 450
0 0 |
) 0 \B) % (C) 90" (D) 120°
(C) 90° (D) 1209
042. A prism of angle of prism 600 has angle | 042. 60° frow =W ad 59 %1 =EAw fT=em
of minimum deviation 40°. The angle of o 400 B) 3 foafa § suaw i g
incidence in this position 1s (A) 300 (B) 500
0 0
&) i) o (C) 60" (D) 100°
(C) 60° (D) 100°
043. If the common-base current gain of a | 043. U I 1 IHAMB-3MGR gr/q <H 0.96
transistor 1s 0.96, then its common-emitter 2, d 3H& 3WINE-3cdSie 9N o9 BM:
current gain will be (A) 2 (B) 20
Ay 2 iR C) 24 D) 48
() 24 (D) 48 ) 2
2-AA | [13] | P.T.O.
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3334
O | |
£ 044. The work function of a metal is 2.0 eV. | 044. U= gTg HH Hed 2.0 ¥ diee Bl
% The stopping potential for the light of 4000 AY duesd & Uwm % fou Ordey
L0 wavelength 4000 A° will be favyg g
% (A) 5.1 V B) 3.1V (A) 5.1 d@ree (B) 3.1 diee
e €) 20V (D) L1V (C) 2.0 diee (D) 1.1 dree
3333
X
X 045. A 1 milliwatt laser source is emitting | 045. us 1 fieflae @R ®d 555 I T
ey light of wavelength 555 nm. The number HT IcHad B @ 2l U4 ke Ighd
of photons emitted per second are ®eEl Wl e Bt wwT (v Hadie
approximately (Planck’s constant = 6.6 x — 6.6 x 1034 M2 [3e)
1034 m? Kg/s)
(A) 107 (B) 10! (A) 107 (8) 104
(C) 1015 (D) 1018 (©) 100 (D) 1078
046. If V be the accelerating voltage of the | 046. I V @ @« @i fawa & o 39
tube, the maximum frequency of continuous qqd THH-TohUN i Afeehad A@Gd, V W
x-rays produced depends on V as A =l 2
(A) V2 (B) V (A) V2 (B) V
(C) V2 (D) V! (C) V12 (D) V!
047. Hydrogen atoms in its ground state are | 047. a9 3@wen ¥ @ gEgH WHEST i
excited by monochromatic radiation of BRH FHaAl 12.8 soFEE dlce o Uhalvig
photon energy 12.8 eV. If the ionization faferror g 3afsa foem sman 21 afle s
potential of hydrogen atom is 13.6 eV, the THN] H AP TO¥E 13.6 IoEgH  dlee
number of spectral lines emitted according g d dgt Hgrd % FIER Il waed
to Bohr theory will be AT hl TEAT B
(A) 6 (B) 4 (A) 6 (B) 4
(C€) 3 (D) 1 (©) 3 (D) 1
048. The half life of a radioactive substance is | 048.  Us fSAUfFea ugrd i AGY 7.5 Ths
7.5 seconds. The fraction of substance left 3l U fHe o uamd ugid &1 §=E1 g WE
after one minute is a:
(A) 1/16 (B) 1/64 (A) 1/16 (B) 1/64
(C) 1/128 (D) 1/256 (C) 1/128 (D) 1/256
2-AA | | 14 | | Contd...
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049. The output equation of the logical circuit | 049. T3 ¥ yefsta @ifoes ufy 1 Ffa gt
shown in figure is a:
=1 CTHO—
B— B

R NN |

co—oAS c—
(A) Y= (A+B) BC (B) Y = AB+B+C) (A) Y= (A+tB)BC (B) Y = ABHB+C) ¥
(C€) Y= A+B+C (D) Y=ABC (C) Y= A+B+C (D) Y = ABC

050. The number of atoms in the lower and | 050. Uk 4" & F= 3 3= FHal @y H
upper cncrg.y states of a matcrifﬂ a;rf: N, a?,nd S EE HE: N, S N, 3 =
N, respectively. For population inversion e ' s
between these two levels a R fere
(A) N, = N, (B) N, > N, (A) N, = N, B) N, > N,
(C) N, < N, (D) N, =0 (C) N, < N, (D) N, =0

2-AA | [15] | P.T.O.
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CHEMISTRY / @EA9TE

051. Which one of the following will be most | ¢51. fr=fafed 4 ¥ =« s &g Ad3M™gE
reactive for alkaline hydrolysis & yfd waifaes fwamfia 2
(A) CH; - CH, - CH, - (|3H - COOH (A) CH, - CH, - CH, - (EH - COOH
Br Br
(B) £l - CHy, ~ €I ~ CH ~CODH (B) CH, - CH, - CH - CH - COOH
Br Br
() g = L - By o By COOH (C) CH, - CH - CH, - CH, - COOH
Br Blr
(D) Br - CH, - CH, - CH, - CH, - COOH (D) Br - CH, - CH, - CH, - CH, - COOH
052. The most suitable reagent for the conversion | 052. #A¥A d=vg ¥ dfod Ueshigid 9IH &
of methylbenzoate to be benzyalcohol is % fou ge@ 3ugw oIfieRds 2
(A) H,/Pd-C (B) LiAMH, (A) H,/Pd-C (B) LiAM,
(C) NaBH, (D) Li/NH; () (C) NaBH, (D) Li/NH; ()
053. Which one can be synthesized by 053. goo rfufskan g fepmehl wweifvd feam S
Waurtz reaction ghdl Bl
(A) Toluene (B) alkyle halide (A) e (B) UTHEA BATSES
(C) alkane (D) alkene (C) UeAhd (D) UAEH
054. Which one of the following made through | 054. fr=faRad ¥ ¥ fFERl ToH g g
condensation polymerization. T AT 2
(A) Teflon (B) bakelite (A) THAM (B) &&aTse
(C) Polythene (D) Acrilan (C) ufciiefm (D) UshTEeH
055. Which one of the following has hexagonal | 055. T=fafga & | o wehvim fred a=m
crystal structure wEdr 2|
(A) BaSO, (B) CdS (A) BaSO, (B) CdsS
(C) SnO, (D) Na,SO, - 10H,0 (C) SnO, (D) Na,SO, - 10H,0
056. Which of the following is anti ferromagnetic. | 056. ™HfRgd § 4 ®H Ud @@ = 2l
(A) H,0 (B) Cro, (A) H,0 (B) Cro,
(C) MnO (D) MgFe,0, (C) MnO (D) MgFe,0,
2-AA | [ 16 ] | Contd...
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10Ok
057  Synthesis of amonia is represented by the | 057. omifeen =1 fwmiu = afufear oo gufen 0O
following reaction. 2 K%
| 90Ok
Nagy * 3ty = 2NHyg, Ny *+ 3Hyy — 2NHy W: 3%
A H°= —91.8KJ mol!
prte=te=tlia ik JD AH°= ~91.8KJ mol! A
What will be enthalpy of decomposition afufn % SER NH, ¥ faaem ¥ Ry OO
of ammonia according to reaction. Afgfshn 1 A w@ B 0o
2NH;yp) = Ny + 3Hyp) 5 AH® =7 2NH;,) = N, + 3Hy,) 5 AH® = ?
(A) - 91.8 kJ mol"! (B) +91.8 kJ mol! (A) — 91.8 kJ mol"! (B) +91.8 kJ mol!
(C) ~ 45.9 kJ mol"! (D) +45.9 kJ mol! (C) — 45.9 kI mol™! (D) +45.9 kJ mol!
058. What will be the pH of -001M 058. -001M Ba(OH), fae/@eh pH <1 &= Bl
Ba(OH), solution (A) 2.0 (B) 8.4
(A) 2.0 (B) 8.4
(C) 11.3 (D) 2.7
(C) 11.3 (D) 2.7
059. Which of the following aqueous solution | 059. ™= H ¥ f&E Scf@ fO@H 1 wSiUH
must have the highest boiling point. FEYATH BT AT
(A) 1.0 M NaOH (A) 1.0 M NaOH
(B) 1.0 M Na SO, (B) 1.0 M Na,SO,
(C) 1.0 M NH, NO, (C) 1.0 M NH, NO,
(D) 1.0 M KNO, (D) 1.0 M KNO,
060. Which of the following is the correct for | 060. T=fciflgd § =9 «ed FUwHHl +1 TE HH
increasing bond order. B
(&) 0F > 03 >0;>05 (A) O >0,>0, >035"
B) OF £ 0,<0, <07 B) 03 <0, <0;<0;
(C) 0; =0,,0,>05 (€) 0] =040, >0
(D) 0; <0,>0,<0; (@) 05 <0; 20505
2-AA | | | P.T.O.
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061.

Two particles A and B are in motion. If | gg1. a1 w0 A td B Md W @ §, AR Fw
the wavelength associated with particle A A Y gafa qoeel ® AH 5 x 108 m
in motion is 5 x 107% m. What will be 2 @ w B & gOf@ @ ¥ w oOM
the wavelength associated with particle B F OB TS T HU B HT TIT HU A
if the momentum is half than that of A. % qed I R
(A) 5 x 10% m (B) 10 x 108 m (A) 5 x 108 m (B) 10 x 108 m
Gy 2.59:% 10% m (D) 0.2 x 10°% m (C) 2.5 x 108 m (D) 0.2 x 108 m
062. The radius of which of the following orbits | ¢62. fT=fafaa & & o = 51 =1 =1 99
1s same as that of the first Bohr's orbit of HESIEE] qTHTY % YU digl Y ohl sl
H atom? % SUeT BT
(A) Het (n=2) (B) Li*" (n=2) (A) He' (n=2) (B) Li2* (n=2)
(C) Li2+ (H::‘;) (D) Bt‘:3+ (n:2) (C) Li2+ (Il:3) {D) B€3+ (HZZ)
063. Which of the following substances is | 063, fo= & @ 39 @1 verd fa=fafga sfufen
serving as a reducing agent in the following N I ! TE B U7
reaction? A = _ 1t
9 _ 14H"+ Cr, O7 +3Ni — 2Cr’™ + 7H,0 +
14H"+ Cr, O7 +3Ni — 2Cr* + 7H,0 +
3Ni2+ 3N.i2+
(A) H,O (B) Ni (A) H,0O (B) Ni
. s 2—
(€) H' (D) Cr, 0 (©) H (D) Cr, 07
064. Which is the strongest acid? 064. T o wad gaa 30 BTN
(A) H(CIO)O, (B) H(CIO)O, (A) H(CIO)O, (B) H(CIO)O,4
(C) H(CIO)O (D) H(CIO) (C) H(CIO)O (D) H(CIO)
065. IUPAC name of compound 065. f&&@ T s &1 IUPAC 9 &I
0 CH, 0 CH,
I g i I i
|>—C"*N‘*--CH3 N [>—C’"’N£-»CH3 N
(A) N, N - dimethyl cyclopropan (A) N, N - SEHYA HREFANNT HEEFHHES
carboxamide B) N - i wsadiiEe
(B) N - methyl cyclopropanamide ©
TTSFATIIUATITES
(C) Cyclopropianomide 5
(D) None of the above D) 1 &
2-AA | [18 ] [ Contd...
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066. Which of the following reaction is not | 066, Tr=fafga & @ == o rfufse adt T8 8 FHX
correct. W%
— - - 2y 2 m
(A) MnO,+8H™ + 5Fe2* — Mn2*+ (A) MnO,+8H™ + SFe”" - Mn"+  sapsy
4H,0 a3
4H,0 2 85
(B) 2Mn0O,+4KOH + O, — 4KMnO, + (B) 2MnO,+4KOH + O, — 4KMnO, + %
2H,0 2H,0 bss
y R
(C) 2Na,CrO,+2H" — Na,Cr,0, + (&) ENa Oy 2HT — NayCr0y, O
INa*+H,0 2Na'+H,0
(D) K,Cr,0, + 7TH,SO,+ 6KI — (D) K,Cry0p + 7THySO,+ 6KI —
4K,SO,+ Cr,(SO,),+ 31, + TH,0 4K,S504+ Cry(80,)5t+ 31, + TH0
067. Which of the following compound will | 067. = H & wH-|1 Afie s 5@ & @0
give tribromo derivative when treated with IUEid T W RSl ogqd <MY
bromine water.
CH,OH CH, CH,OH CH,
(A) (B) @
(A) @ (B) @LDH @ o
CH, CH,
CH, - CH, :
OH OH
©) @/ (D) ©) @/ ®) @
OH OH
068. If E'Cu®'|Cu = 0.34V and E'Ag'|Ag = | 068. afé E°Cu?|Cu =034V U E°Ag'|Ag = 0.80V.
0.80V, what 1s the emf of the cell g 89 =1 ﬁgﬁm a9 298 K W BMT
2+ F
CulCu™ (0.01M) || Ag"(0.0IM)lAg CulCu?" (0.01M) || Ag'(0.01M)|Ag
at 298 K?
(A) 0.40V (B) 046 V (A) 040V (B 046 V
(C) D50 Y (D) 052V (€) 050V (D) 052V
069. The dark purple colours of KMnO, is due | 069. KMnO, 1 T&q St o1 fRa wrur '
o (A) d - d Ghuur
(A) d - d transition . .
B) Teriig AT
(B) Ligand field transition ) e +
(C) Charge transfer transition ©) N !Hzl L
N
(D) o— n" transition (D) o — n" HshHU
2-AA | [19] | P.T.O.
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070. The number of o and m bonds between | 070. CaC, ¥ @ FEH WY % HA o WI =
two carbon atoms in CaC, is T 1 mEEr B
(A) Three o bonds and no m bonds (A) T o F9 I FE 1 FY TE
(B) Two m bonds and one ¢ bond B) A n TY I TF o TY
(C) Two o bonds and one m bond (C) A o &Y 3N T 1 &Y
(D) One n bond and one o bond (D) T © Y IR TF o 9

071.  Which one of the following is the weakest | 071. = # @ %M @1 geieiad ozH &R 2
Lewis base? _ ~

_ B (A) CH, (B) NH,
(A) CH, (B) NH, ‘ i
() O (D) F (C) OH- (o) B

072.  Which of the following cations will be have | 072. &% #ewrse @ & fod fefdafad
minimum flocculation value for arsenic H $HF " g Aq9 FUH T @l &l
sulphide sol? .

(A) Na' (B) Mg’
(A) Na' (B) Mg*
(C) Ca2* (D) A (C) Ca?" (D) AP’

073. In the plot of iogi vs log P for an | 073. aAfemmor sm@ A logi—- vs log P § U&
adsorption, a straight line inclined at an it @ gty B & S R x-31" % gy
angle of 6 =14.04° to the x-axis was P @ =14.04° W FH . UM THH
obtained. The '»' value for this adsorption ¥ i W B (tan 141040 = 095
process is (tan 14.04° = 0.25) g e 18.047 = 028
(A) 5 B) 8 (A) 5 (B) 8
(©) 4 (D) 2 © 4 i

074. Extra pure N, can be obtained by heating | 074. fpgehl TH T W EAIUS Yg N, H TH

. | fhm 1 "war R
(A) NH; with CuO (B) NH, NO, ;
(A) NH, 7 CuO (B) NH, NO,
C) (NH,), Ct,0 D) Ba (N " "
(6, (NHs €107 (B) (N3), (C) (NHy), Cr,0, (D) Ba (N;),
075. Which of the following exhibits square | (075, = ¥ =9 Trer Whies sfbfa yekE
pyramidal geometry? Hl 2.
(A) X.Fq (B) X.0; (A) X F, (B) X0,
(C) BrF; (D) X.F, (C) BrF; (D) X,
2-AA | [20] [ Contd...
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076. Which one amongst the following exhibit | ¢7¢. f=fafga o @ == s=fudE  guEggdr
geometrical isomerism wefta w2
[~ 111 .
(A) |Co™(NH,);Br S0, @ [co (Nt Br |50,
®) [co™(EDTA)] @ [CoM(EDTA)
: 3— q_
(©) [Cr(seN)g] © e (seN ]
[ 1, 11 \ '
) |P™(NH,),Cl, o [Pt (NH,),CL]
077.  The carbocation formed in SNI reaction | 77, dfcser Bamss it SN1 afufsenm & e we
of alkyl halide in the slow stop is § W wEIET B 2
(A) SP3-hybridised (B) SP2-hybridised (A) SP3 - W@ (B) SP? - Hehid
(C) SP-hybridised (D) SP>d-hybridised (C) SP - H&id (D) SP3d - G&id
078. Which of the following compounds is | (078. =759 W &% &9 & foig = 9 &9 41
responsible for depletion of Ozone layer? M IEE 2
(A) Freon (B) Chloroform (A) Bt (B) FARIEM
(C) D.D.T (D) Todoform © GaH (D) SRS
079. The chemical reation 079. T et futear =91 w2 2
CO,HC! - @/um — CHO
Anhyd AIC, /CuCI T AICL /CuCl ©/
is known as | A) 7 e
(A) Gatterman reaction
(B) Tischenko reaction (B) s
(C) Gatterman - Koch reaction (C) TEwH - hiv AT
(D) Frankland reaction (D) Hhoig AfUlshAT
080. When acetone is treated with dilute alkali, | 080. & vudHeH <k 3A(Wfha dd &R % 9y
the product obtained is HE St ? o9 I BhT)
(A) Mesitylene (B) Mesityl oxide (A) Tfierea (B) WHREES 3iEEs
(C) Paraldheyde (D) Phorone () TuedEEe D) BRA
081. A metal present in insulin is 081. 3gfod H 3MEUd o1 2
(A) aluminium (B) zinc (A) UM (B) T
(C) iron (D) copper (C) 3MFHA (D) I
2-AA | [21] | P.T.O.
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082. Which of the following amino acid is not | ¢82. fi= ¥ ¥ =19 91 IHT 37 USRI G5
optically active EE
(A) lactic acid (B) serine (A) TFF T (B) T
(C) alanine (D) glycine (C) TeHTE (D)  TeTsiiE
083. Time required for 100% completion of a | (83. NG S erfufspar & 100% t@’i A %
zero order reaction is o AEvas 999 @
a
() ak B) % (A) ak (B) i
2k
©) - m = a 2
'g'{ M Ll
& (©) X D)
084. The final product formed in this reaction | 084. @ Tt sifufsean =1 sifw 3cag &M
is ‘ CH;  KMj,O,/KOH H,0*
“h KMpO,/KOH H,0* @ “(A) (B
©f )10 @)
SHO COOK CHO COOK
MoslIo: JosYo
CH,OH COOH CH,OH COOH
0@ 0@ 0@ 0@
085. Lassaigne's test for the detection of nitrogen | 085. <rgeroq & fiuftr & fou dwm whewr #
fails in FERA 7
(A) H,N — CO — NHNH, - HCI (A) H,N — CO — NHNH, - HCI
(B) NH, — NH, - HCI (B) NH, — NH, - HCI
(C) NH, CO NH, (C) NH, CO NH,
(D) CHs — NH - NH, HCI (D) CHs — NH - NH, HCI
086. The self indicating silicagel impregnated | 086. hleTee FANIZS gHI 9ia T: R INED
with cobalt chloride turns pink on absorbing Sl araraRer i T rasnfya Y Terst g
moisture and becomes blue on heating. The 2 YT T & & UvEld A & A Rl
pink and blue colours are repectively due T Td AT T OsE: fereehr ShIOT BT
w (A) [Co (H,0).J*" and [CoCl,]*
(A) [Co (HEC}‘)&]2+ and [C0C14]2‘ 2776 %
2+
(B) [CD (H20)6]2+ and C0203 (B) [CU (HZO)G] and C0203
(C) [Co (H0)]** and [Co(H,0).]** (C) [Co (H0)gl*" and [Co(H,0)¢]**
(D) Co?" and Co3* (D) Co*" and Co**
2-AA | [22] [ Contd...
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087. Which of the following complex ions has | 087. f=fafgga 4 9 &= @1 Hﬁ,‘a ARA AfeRan
the highest magnetic moment EEhI 3:|Tq1\:r’i ERCLIM
(A) [Cr (NHy)e** (B) [Fe (CN)4* (A) [Cr (NHy) " (B) [Fe (CN)J*-
s sl ot
(C) [Fe (CN)] (D) [Zn (NH;)] (C) [Fe (CN)6]4— (D) [Zn (NH3)5]2+
088. Which of the following compounds is most | 088. Tm=ffga ¥ & =H =Afe ATfvR=E JIATTEHS
reactive towards nucleophilic sfufrn % ufa god sifs framfer )
(A) CH;CHO (B) PhCOCH; (A) CH,CHO (B) PhCOCH,
(C) PhCOPh (D) CH;COCH, (C) PhCOPh (D) CH,COCH,
089. In the cannizzaro reaction given below 089. = &1 Wi S gt & o™ o
2 PhCHO — PhCH,OH + PhCO;, the 7g Bl
slowest step 1 2 PhCHO —> PhCH,OH + PhCO;
(A) the attack of OH™ at the carbonyl
P (A) WEIHA T8 9 OH™ T ATHHT
(B) the transfer of hydride to the carbonyl (B) ®EiHd T8 Y BIEZBE A™H I
group T
(C) the obstruction of proton from the (C) wEifafers o & SeW @ e
carboxylic acid
(D) the deprotonation of PhCH, OH (D} EWCH, OH. Falchlee
090. Which of the following fcc structures | 090. f=fafgd & & = & fec T=T THFANa
contains cations in the alternate tetrahedral ToeadE R § oo @ R
voids
(A) Na,O (B) ZnS (A) Na,O (B) ZnS
(C) CaF, (D) CaO (C) CaF, (D) CaO
091. In soap industry, glycerol can be sepeated | 091. @EF 3&um # e @ # ¥ faftwia =
from spent lye using the technique. JyFEEHT HH Bq BH o R a6
(A) differential extraction &t ST R
(B) distillation under reduced pressure (A) Taud fasedor
(C) filteration (B) %H T Y 3THIH
: : (C) 3med
(D) chromatographic sepesation
(D) ShIHEUTRSH  JoIaFhul
2-AA | [23] | P.T.O.
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092. 0.532g of chloroplatinate of an organic base | ¢92. wEE & (AR 244) HT 0.532g
(mol wt. 244) gave 0.195 g of platinum FARGICHS G841 o 9w 0.195g Toieqd
on ignition. The number of nitrogen atoms <l Bl &Rk §fd S H ARISH e
per molecule of base is # e R
(A) 1 (One) (B) 2 (two) (A) 1 (T=) (B) 2 ()
(C) 3 (three) (D) 4 (four) (€) 3 (dF) (D) 4 (IW)
093. The standard emf of a glavanic cell | 093. 250 @M W TUH ToedHh HA H THSD
involving cell reaction with n=2 is found fogaares @ 0.295 V 9T T W@k A
to be 0.295V at 25%. The equilibrium sfufseen & n & 9W 2 B 39 AMGRE W%
constant of the reaction would be. for mmemaE fores &)
(A) 2.0 x 101! (B) 4.0 x 1012 (A) 2.0 x 10! (B) 4.0 x 10!
©) 1oz 1P (D) 1.0 x 10! (€) 1.0 x 102 (D) 1.0 x 1010
094. A reaction occurs spontaneously if 094. TEq: JAYGHAT Bl 8 AR
(A) TAS < AH and both AH and AS are
5 (A) TAS < AH @91 gHi AH @ AS UATcH® @
(B) TAS > AH and both AH and AS are 7 :
(B) TAS > AH 9T 241 AH d AS HATH® &
+ve
(C) TAS = AH and both AH and AS are (C) TAS = AH @1 €H1 AH 9 AS ©ATcH® &
+ve
(D) TAS > AH and AH is +ve and AS D) TAR > A 0 AL WIEm ¥ A8
. ERUIeC
is —ve
095. The conjugate acid of NH, is 095. NH, % #gfFq e 2
(A) N,H, (B) NH," (A) N,H, (B) NH,"
(C) NH,OH (D) NH, (C) NH,OH (D) NH,
2-AA | [24 ] [ Contd...
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096. If the density of CH,OH is 0.793 KgL~!, | 096. =f ¥%=i@ =1 =@e@ 0.793 forn /foex 2
what is the volume of methanol is needed al 0.25 AR "I & 2.5 foqer foaemm
for making 2.5 L of its 0.25 M solution? * o’ srevas WA H ARG B
(A) 20.2 ml (B) 50.4 ml (A) 20.2 ml (B) 504 ml
(C) 252 ml (D) 10.0 ml (€ 252 mil (D) 10.0 ml
097. Among the following the aromatic compound | (097. = ¥ ¥ =4 wWHElEE AfE 2l
1S
A B
v/ (B)Q W \/ ()@
© | | ® \/ © [ ] o
098. Only two isomeric monochloro derivatives | 098. Tf&haeh fou Faa T Tha A THEIHl
are possible for Hd 2
(A) n-butane (A) nﬁ@?
(B) 2, 4-dimethyl pentane (B) 2, 4-SEAfYA U=eq
(C) benzene (C) o=
(D) 2 - methyl butane (D) 2 - BiYE &geA
099. Major pollutant in Jet plane emission is 099. S wH 3R Y@ WgUH @
(A) SO, (B) CFC (A) SO, (B) CFC
(€) CO (D) CCi, (C) CO (D) CCl,
100. Galvanised iron is 100. ﬁ?’?"‘ﬁqﬁ NLRCI
(A) an alloy of iron with gallium (A) A & @y Afcaeer oy ard
(B) iron used in a glavanometer (B) TH TcoHHI H TIE A
(C) iron coated with zinc (©) = T @
(D) an alloy of iron with zinc 4 + Wt @ fe g
2-AA | [25] | P.T.O.
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101. Which of the following is a diagnostic feature | 101. = o ¥ =91 99 TET & 97 SHESET
of class Demospongia, Phylum Porifera %1 Ades g 2.-
(A) Calcareous Spicules (A) hHe=aTHl T
(B) Spongin fibers (B) T4 g
(C) Tetraaxon Spicules (C) THEqW FHIH
(D) Monoaxon spicules (D) UehI&T <helehl
102. Which of the following statement is correct? | 102. = # & &H @ &99 F& 87
(A) Infective stage of Plasmodium in Man (A) T H TASHISIH H1 HhHeh <]
i1s Schizont greaEe 2l
(B) Binary fission in Paramecium is irregular (B) wHifsrm o fg fawrmm sifsafia gar 21
(C) Monocystis lacks locomotor organelles (C) OFTEEE § 9o 3T &l AYE gl
but possess contractile vacuole. 2 W SHaqsia 9 9 Sl 2l
(D) Exflagellation in Plasmodium occurs (D) ARSI | foeprEwsiyes Ik %
in Microgamete stage. gL H gl gl
103. Which of the following is correctly matched? | 103. = § ¥ %N &1 HARId a7
(A) Hydra-Chloragogen cell (A) BIESI- FARISH  HIFTHIT
(B) Obelia-Metagenesis (B) ITEfaT- Her SHE™
(C) Hydra-Polymorphism (C) ®BIgg- @ Ul
(D) Obelia-Strobilation (D) FEferar- FIfeesH
104. Identify the correct statement 104. T ° I &9 @ &9 T8 87
(A) In the life history of ascaris IV (A) TEhE % Sfigd =% § dlgr i
moult occurs inside the liver Thd & I Bl 2l
(B) Amphids of ascaris are chemoreceptors (B) UL & AMhsH ™ UE D 2l
(C) Ascaris produces HCL to counteract (C) ULHE YU o 9Yeh ™ ol %
the host digestive enzymes FH 7g TAHUA Icdlcd Ll gl
(D) Laureur’s canal is a part of excretory (D) IHd HH H TRR A IodsH aF
system of liver fluke. AT 2|
2-AA | [26] [ Contd...
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105. Which of the following is correct? 105. @3 w9 &1 AfFgifE Hifse %
(A) Mehli’s gland are coccon forming (A) ﬁq 4 Hadl uieEm FEA o &3 %
glands in earthworm EISIEP IR 333
(B) Taenia respire anaerobically (B) dfn # sFEE™E ged gar 2| %
(C) Life cycle of taenia solium 1s (C) T Aifqaw =1 Sifad =k icifa-deh OOk
polygenetic G %
(D) Ootype is present in sheep liver fluke (D) 9 % Iohd HW W fearfe foemm gt 2| ok
W%
106. Identify the correct match from the following: | 106, =9 o u& gﬁrﬁaa pfafyif Hifsu
(A) Palemon- book lungs (A) UfcdF- g9 $%d
(B) Palamneus- hastate plate (B) USHMIH- FHard fden
(C) Scorpio- coxal glands (C) Toreg- weam 7Y
(D) Prawn- uniramous (D) Hm- UH Il
107.  In rabbit brunner's gland are present in the | 107. wwiw # §w ufy freht fufa & o
Wall of 2
(A) Stomach (B) Ileum (A) ITHIYE (B) sferm
(C) Duodenum (D) Colon (C) TEuf (D) ieH
108. Auditory ossicles of rabbit lie in the 108. QUMY <h1 ggur feyemT wdl ®
(A) external auditory meatus (A) 9@l &V FR H
(B) auditory capsules (B) #EU HY H
(C) tympanic ring (C) v 9B aad H
(D) tympanic cavity (D) &Y WE Y& |
109. The digestion of cellulose (Herbivores) in | 1099. g o ﬁa@q (IMepTET W) 1 UTEA fohwehl
caecum takes place in the presence of Jufeafa § gdar 2
(A) Entamoeba (A) USHIaT
(B) Ciliates (B) Tafered
(C) Active secretion of walls (C) i | "ihy "|@ g
(D) Bacteria (D) ST
2-AA | [27] | P.T.O.
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110.  Which of the following veins collect blood | 110. =5 @ =9 H dw e d T UHI Hdl
from diaphragm 2
(A) Phrenic (B) Intercostal (A) Wi (B) e,imﬁ?ﬂ-ﬁ-q(w)
(C) Pulmonary (D) Subclavian (C) YeH=d (D) HYUNIH
111.  In which of the following animals neotany | 111. = Sigafi § Freeh Sfieq =36 & SRH Ryl
is observed during the life history? el TS 8
(A) Necturus (B) Icthyophis (A) TFIE (B) wHeAIHH
(C) Salamandra (D) Bufo (C) HeAmgT (D) =HI
112. Theory of origin of life was initiated by: | 112. <fieqd &1 3ga fagma T ufqufea fomn
(A) Oparin (B) Pavlov (A) 3TUTE (B) TeAl
(C) Huxley (D) Darwin (C) waEd (D) SifeH
113. In evolution the role of isolation is 113. fao™ H yaaE &1 Ud @
(A) evolutionary divergence (A) Tara  srowTia
(B) evolutionary convergence (B) foaeprfa  arfyEfan
(C) extermination of species (C) wiefis =1 I+ eH
(D) differentiation of species (D) i =1 faveq
114.  Which of the following structure present in | 114. T TR 4 | - GENW & ASHA
the ovary of rabbit is absent in the ovary i At 2w Hew F T8
of frog
(A) Corpus luteum (B) Oocyte (A) FRIE G (B) I7SH
(C) Zona pellucida (D) Follicular cells (C) YNGEil FASEW (D) Yo hINIhRIT
115. The contractile vacuole of Amoeba proteus | 115. 3rfien Wifea® 61 TFad 9 g & AW
will disappear while other functions will vafs TR w@ wew @, @l
Go On if; & s ’ 4
A) HIEIH 6
(A) if the pH of the medium 1s changed ) i
b % (B) HIe¥H I AHH wgl fear =g
(B) the temperature of the medium is raised (C) mem @ % gl % @ e fen
Il
(C) the medium is diluted with tap water
_ _ (D) WIeA™ & WY HYg &I A Hen T
(D) sea water 1s added to the medium
Il
2-AA | | 28 | | Contd...
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116.  Evolution is best explained by the Darwin's | 116. =ifdq & Wreplces 9@ o g g Tom Had
theory of natural selection which implies that I aiE afulg R ST TehdT B S U8 §drdr B $o%
(A) acquired characters play no role in (A) 3ufSa @eon 1 fomm H HIE wm
evolution T 2
(B) the individuals best adapted generally (B) ) "Gﬁaﬁﬁ@ 31@1&? T & T
g , 2 9% ued e 9e § g 3o o
produce the highest number of offspring oy &
(C) the individuals best adapted do not (C) W =afF ged S U B
need to struggle for existence I feq § Hu¥ 98 e s
(D) mutations are the raw material for (D) UThldeh A1 gRIT ToehE o Tofu 3caiadH
evolution by natural selection F1 AT 8
117.  Which of the following group of animals | 117. ™= Yoft 998 § & &4 d Th & a1 *
are examples of the same class 2B @
(A) Lumbricus, Hirudo and Pheritima (A) wfrsim, fawel 3R wifem
(B) Spiders, Millipedes and Peripatus (B) #el, faefdis st ufidew
(C) Cuttlefish, Squid and Pearl oyster (C) *cd HSell, THsE 3R ol HATFEH
(D) Cyclops, Woodlice and Shrimps (D) HEFArH, g8 @RE R
118. Mouthparts in cockroach are 118. faafeg ¥ @M B &
(A) Piercing and sucking type (A) 9t 9 JEA 9
(B) Siphoning type (B) UEGHT A 9T
(C) Cutting and chewing type (C) &led g =aH ared
(D) lapping type (D) =4 4T
119. Atavism is a phenomenon in which: 119. YESIHEId 98 HeABRH @ fofaH:-
(A) an organ loses its function (A) 3T 3991 % Gl edl =
(B) an animal becomes extinct (B) Wl foeH & Sl @
(C) an organ becomes over specialized (C) 3% o1 3cgfyss fafofe wwor & en 2
(D) a lost organ in a specie suddenly (D) U FTfd § fH Uh M el =afw d
reappear in an individual IFHF GH: I B STl B
2-AA | [29] | P.T.O.
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120. Tapeworm has no digestive system because | 120. BIarhH H YA qF T8l Blal @ @i
(A) it is a parasite (A) I8 TH WEEl B
(B) it lives in intestine (B) ¥ IHd H A @
(C) it does not require food (C) 38 HISH & =fey
(D) it absorbs pre-digested food (D) I=8 ‘{é qferd e =<4 o 8

121. In 7,9,12 and 13 Segments of Pheretima are | 121. Hfem % 7,9,12 991 13 9 @el H UMW S 7:-
found ]
(A) Ganglia (B) Pharyngeal nephridia (A) T (B) T ThiISA
(C) Lateral Hearts (D) Spermatheca (C) T4 &F (D) TR

122. The plant on which Hugo De Vries | 122. 38§ W9 1 9W «@dU 5@ W YO Gk
experimented to propound his mutation : :
theory 1s ETﬁ s foma 7 s Sy fagra fea
(A) Calotropis (B) Garden pea (A) e (B) TrEA i
(C) Evening Primose (D) China rose (C) Tiex fumm (D) =T I[erE

123. Receptors which are sensitive to pain are | 123. <2 I Hddl fEwex = 2
known as
(A) Tangoreceptors (B) Algesireceptors ) el B)
(C) Frigidoreceptors (D) Rheoreceptors (C) ¥wifver fEwr (D) fafEw:

124. Down’s syndrome is caused by the | 124. Tra f9em f= sEwm & ®RO g1 2:-
following condition
(A) XO (B) trisomy 18 ) X0 (B) Zaw 18
(C) trisomy 21 (D) XXY (C) <rgamt 21 (D) XXY

125. Hybridoma technique is used for production | 125. ®EsEmT dodies &1 AT fRgs I F
of fau form wmar 2
(A) Polyclonal antibodies (A) UTcodAe Tael
(B) Monoclonal antibodies (B) HHFAMA UIarel
(C) Insulin (C) sgfoH
(D) Vaccine for hepatitis B virus (D) BUersfed & arEE &1 i

2-AA | [ 30 ] | Contd...
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126. Genes which confers antibiotic resistance | 126. Sfram & UgEIeH Uauashdr ¢ I S
to bacteria are located on: fefafes w f©@ 2a 2
(A) Polysome (B) Mesosome (A) YferEm™m (B) wHEE™
(C) Plasmid (D) RNA (C) TofEe (D) IR.TA.T.
127.  Which of the following statement is correct | 127. T=fcifgd § ¥ SHE1 924 G, 361 % aX H
about G, phase? TE 87
(A) Cell is metabolically inactive (A) w3y Ffsky g 2
(B) DNA in the cell does not replicate (B) @Iyl H SUAT Yldehid A&l il 8
(C) It is not a phase of synthesis of (C) I8¢ VST  HBYU hi IFEEAT A&l
macromolecules H
(D) Cell stop growing (D) IR @1 ghg Tk Al &
128. Which of the following enzyme opens up | 128. T=fcif@d # & & |1 USMsH, Sidhid Bk H
the DNA at the replication fork? guqu S @idadr a7
(A) DNA primase (B) DNA ligase (A) Sitqu IS (B) EUAT AR
(C) DNA helicase (D) DNA polymerase (C) ¥wqu Feflhd (D) EUAU UTAHS
129. In an ecosystem, the rate of production | 129. U uriifeyfaehi @3 H, Yo @539 o gHH
of organic matter during photosynthesis is FE-h GGl & IcAEH hl gL el Hal ATdl
termed as: 3
(A) Net productivity (A) 92 IUTEehdl
(B) Net primary productivity (B) 72 Wigfiish Icqreehal
(C) Gross primary productivity (C) el WA Ieqgehal
(D) Secondary productivity (D) fgdtass IcqrEehal
130. Which one of the following pairs of gases | 130. THfI@d & & =i *1 HHET JH “UHERH
is the major cause of “Greenhouse Effect”? (BRIE) 99E” &1 THE HAU 77
(A) CO, and N,O (B) CO, and O, (A) CO, and N,O (B) CO, and O,
(C) CO, and CO (D) CFCs and SO, (C) CO, and CO (D) CFCs and SO,
2-AA | [31] [ P.T.O.
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131. Mutations can be induced with: 131. 3c9fgdd ol 399 Ui fohamr o dshar 2
(A) T1AA (B) Infra-red radiation (A) IAA (B) TRI-{g fafertor
(C) Ethylene (D) Gamma radiation (C) uferef (D) T farfertor
132. According to Oswald Tippo’s classification, | 132. Hrgares oot & affertor o SER TfSETeTHy
Angiosperms are placed under: ® 3 IFAUd @ T e
(A) Atracheata (B) Thallophyta (A) UfeRer H (B) SeAiwEe H
(C) Tracheophyta (D) Spermatophyta (C) dfraTerger & (D) TWHREE H
133.  What would be number of chromosomes of | 133. 42 TURA drell qa MW k=T are 9ey
aleurone cells of plant with 42 chromosomes EY E'?ﬂﬂ? HITRIFT TR <l qEAT 1
in its root tip cells? Bt ?
(A) 42 (B) 63 (A) 42 (B) 63
(C) 84 (D) 21 (C) 84 (D) 21
134. A fruit developed from hypanthodium | 134, gty JSI5hH g &4 91 %l ol hed
inflorescence 1s called: 2
(A) Caryopsis (B) Hesperidium (A) <hifeag (B) wHffsaq
(C) Sorosis (D) Syconus (C) "™ (D) HEHAEH
135. The waxy substance associated with the | 135, =i iR & U= & SE| ol gere
wall of the cork cell is: Al 2:
(A) Lignin (B) Hemicellulose (A) Tafim (B) %zﬁ@;:ia‘m
(C) Cutin (D) Suberin (C) qa‘{ﬁ:{ (D) g%ﬁ-.[
136. Which of the following shows water | 13¢. fi=fafga 4 9 frass gagdl d9sd O &
containing cavities in vascular bundles? Ith E-gr@r @l S @7
(A) Pinus (B) Sunflower (A) YTEAH (B) H=IHEl
(C) Maize (D) Cycas (C) Wl (D) HIZHA
2-AA | [32] | Contd...
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137.  Classification of plants into hydrophytes, | 137. vurdi 1 sEI®wEE (Jdifge), HEEEE
mesophytes and xerophytes was suggested (FHifgg) TR SHwged (Weefg) § ffeor o
by: gea wee fe
(A) Odum (B) Warming (A) 37reH (B) arfHT
(C) Weaver (D) Misra (C) e (D) faem

138. Which of the following shows isogamy | 138. f=fiifga 4 o 9 19eqed gma-?[ & H1Y %
with non-flagellated gametes? OEYHA UGN Rl 87
(A) Chlamydomonas (B) Spirogyra (A) FAUREMAE  (B) FUTSIATIRA
(C) Volvox (D) Ulothrix (C) dicdied (D) IS

139. Which of the following Bt-crop is being | 139. f=faif@d 4 ¥ % € Bt-%da WRd H feraml
grown by farmers in India? ARV | v
(A) Maize (B) Cotton (A) HERI (B) U™
(C) Brinjal (D) Soyabean (C) & (D) \HEEH

140. The hyphae of Rhizopus are: 140. TISUE * BEH B B
(A) Aseptate and uninucleate (A) UCEM 3R Udhchgohld
(B) Septate and uninucleate (B) Weg® IR Uehchgehld
(C) Aseptate and coenocytic (C) YeEH 3R HehINEhA
(D) Septate and coenocytic (D) YeIH SR HehlRrehi

141. In which of the following processes CO, | 141. FHfAf@d H § 68 JGRT § CO, §F =@l i
is not released? STt g7
(A) Alcoholic fermentation (A) UcehlglcAsh fehuad
(B) Lactate fermentation (B) W#de fehved
(C) Aerobic respiration in Animals (C) S=gafi H aga™ @84
(D) Aerobic respiration in Plants (D) Wiegdl H agdE @Ed

142. Protonema of Funaria is: 142. WA # WM AT 8
(A) Thalloid (B) Foliose (A) 9IS (B) il
(C) Filamentous (D) Crustaceous (C) dgad (D) 9ddEH

2-AA | [33] | P.T.O.
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143. In Dryopteris, the sori are borne: 143. SE@m 4, @3 Bl o8
(A) Laterally (B) Abaxially (A) it (B) 9iefi™
(C) Adaxially (D) Marginally (C) 3Tl (D) HHEE
144. In Gymnosperms, nucellus is protected by | 144, foqd #, :@a—g CiElLEzae) CAREICLUI]
envelopes and the composite structure is o Ot feRar ST @ 3 9Hy TREHT
called as: HE A 2
(A) Ovule INEEIEIS
(B) Carpel (B) 37eH
(C) Megaspore (C) HIRHR
(D) Megaspore mother cell (D) HITEIR q1q IR
145. In Malvaceae the flowers are generally: 145. 9OEITIT HAIE | g T 2
(A) Actinomorphic, bisexual, epigynous and (A) Trsammfya, swafarfi, Iufemmft w
pentamerous PP ES e
(B) Zygomorphic, bisexual, hypogynous (B) UshedEEAMHd, 3IWATT(, AYSRETT Ud
and tetramerous a-gefeﬂ
(C) Actinomorphic, bisexual, hypogynous (C) Treammfyq, 3Iwafarfl, giemmft wd
and pentamerous PEGEI
(D) Actinomorphic, bisexual, perigynous (D) TGreammfia, 3Ivafarfl, gfi@mmrf
and tetramerous ﬂ'gfhi’[
146. Which one of the following i1s an example | 146, f=fafE@da ¥ 9 =9 T G-I HT TH
of imbibition? ISR 27
(A) Uptake of water by root hairs (A) Hd Y 2R YT &1 3TqUgu
(B) Exchange of gases in stomata B) W ¥ UG & CH-YEH
(C) Swelling of seed when put in soil (C) Tt # s W T & HeHT
(D) Opening of stomata (D) T g
2-AA | [ 34 | [ Contd...

gcollegeduniaﬁ

]



147. How many molecules of ATP are required | 147. +EgSH &% UTH 3 & feufiemor 7 wddl
to fix one molecule of Nitrogen? o Tohad SMU[HAT hI SAEvAHAT Bl &7
(A) 12 (B) 20 A) 12 B) 20
(C) 6 (D) 16 (C) 6 (D) 16

148. The enzyme that is not found in a C, plantis: | 148. C, qredl W el W del USEH T e
(A) RuBP Carboxylase (A) RuBP wHTeiferdels
(B) NADP reductase (B) NADP fe#eg
(C) PEP Carboxylase (C) PEP helfeaels
(D) ATP synthase (D) ATP &g

149.  Phosphorylation of glucose during Glycolysis | 149. TETSHICTEEE & QA ThIS ol BN
is catalyzed by enzyme: 3CURA I ATAT TEH BIAT 8:
(A) Phosphoglucomutase (A) HIEHFHGH
(B) Phosphoglucoisomerase (B) IEHICIhETHLS
(C) Hexokinase (C) BFATHIEA
(D) Phosphorylase (D) BIEHITETS

150. The photoperiod in plants i1s perceived at: | 150. qigl # @it w1 Tgw fhan S R
(A) Meristem (B) Flower (A) farsias W (B) U W
(C) Floral bud (D) Leaves (C) Y4 il 9 (D) W W

2-AA | [35] | P.T.O.
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